ohS OQtof] gk =9
32" =43 x 20

® 3 (@)4 ® 5

32° = (25)% = 210 = (22)3 x 27
o|JBRZ 6+0=10
. o0=4




2. =y, 2" +3-4%-27 2 73] oFAH?

@—x @ x @ 2x @ 3x ® 4x

B

82:(23)2:26:x
(BH) =243 @2
=2443.24-27
= (LR ayps o
:22,24_27
:26_27
=x—2x

— %




@9 @ 16 (@)25 @ 49

® 64

(AAAR 2] Wol) = (7h2) x (M2)olnz

(A2 9] Ho]) — (2_‘1)2 % <y>2

b2 2a
_ 4a? o 25b*
bt 4a?

=25




4. (-1 4+ (124 (-1)3 + -+ (-1)2009 4 (=1)2010 o] Zh29

O -2009 @ -1 @0
@1 ® 2010

~&B

(1) = “L(=1)? = L(=1)* = =L (=)' = 1=+ (-1)** =
-1, (_1)2010 -1

s (=D + (_1)2 + (_1)3 I (_1)2009 + (_1)2010
I+ +(-1+1)+--+(-1+1)+(-1+1)
0




2
=3x2%y + (2xy*)? x (%)b:—% Ao, a+b 9 F2?
@ 2 @) ® 6 @ 8 ® 10

xb
(F4]) = =3x%y + 4x%y? x 3?:
1

— _gl-b.g-1,2-2+b -y —2a+b
12y
= —471.3 1521
1-b=-1
b=2
1-2g+th=1-2g+2=-1
a=2

La+b=4




